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—=M 2,500,000 x80H 200,000
— S 2,500,000 +20& 50,000
—4UM o1&t 4,000,000 10 40,000
Odt=Zxeldl K& 500,0002 100 50,000
O&d=oEe= A& 150,000 * 140 21,000
H2g0/83 NAAL 227,000 297,000
= 147,000
= 23,000
= 57,000
308 AHXIEMSOIH 227,000 297,000
= 147,000
< 23,000
s 57,000
B3I ZSote oA | 227,000 297,000
OHRLHOISH RN FAS 227,000
= 147,000
< 23,000
[Ea 57,000
(UE==P\I= 4,500 4,500
= 900
= 3,600
301 LeENZ 4,500 4,500
= 900
[Ea 3,600
02 A2 H LGS (FHAAS, NSWE) 4,500 4,500
OF0I=SSXNSAE 250,000+ 18 4,500
s 900
s 3,600
¥ 2IFHI(C2stnF ) 28,752 28,105
Jl=3H| 28,752 28,106
Jl=23H] 28,752 28,106
201 fer23y| 12,312 11,665
01 AtR2t2lHI 12,312 11,665
OU=ZstuF i AFR2t2l| 8,208
Ot2etuFzI S4H| 4,104
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2A: US3ns
Mz M SHAAY|(CI2tnF I
oel: D23l (S &S
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
202 04b| 13,440 13,440
01 2L Y| 13,440 13,440
OU23 &1 =LY 13,440
203 YR =&IH| 3,000 3,000
04 EASHH 2RI 3,000 3,000
Oti23tnslt 2429 3,000
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